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(Review @

1. Review Sheet Topics:
- Exponent Laws
- Rational Exponents
- Graphs of Exponential Functions
- Properties of Exponential Functions
- Transformations
- Solving Exponential Functions
- Growth and Decay Problems

2. Review Questions
Nelson Page 267 #s2-5,7 & 9-17

Mar 19-7:45 AM

Solutions

Nov 20-18:35
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2. Write each as a single power. Then evaluate. Express

answers in rational form.
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3. Express each radical in exponential form and each

power in radical form.
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4. Evaluarte. Express answers in rational form.
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5. Simplify. Write with only positiv expc-gnt
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7. Evaluate each expression for the given values. Express
answers in rational form. N
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9. Identify the type of function (linear, quadratic, or
exponential) for each table of values.
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9. Identify the type of function (linear, quadratic, or
exponential) for each table of values.
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exponential) from its graph.

a) y

10. Identify each type of function (lincar, quadratic, or

May 15-11:07
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11. For each exponential function, state the base _X
formations th x D == 4 0(

function, y = &". Then state the transformations that
map the base function onto the given function. Use k
transformations to sketch each graph. D ,—D QS —'- C
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)y ( 2) ¥ 4( )

May 15-11:07

11. For cach exponential function, state the base
function, y = &". Then state the transformations that
map the base function onto the given function. Use
transformations to sketch each graph.
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12. The exponential function shown has been reflected
in the y-axis and translated vertically. State its
J-intercept, its asymprote, and a possible equation
for it.

May 24, 2018

May 15-11:07
13. Complete the table.
Exponential | Initial Growth
Growth or | Value (y- | or Decay
Function Decay? intercept) | Rate

a) | V(1) =100(1.08) | GrapodA | 10O L Yo

b)| P(n) =32(095)" | Deaan, 32 YA

J | Ax) = 5(3)" Growth | 5 255 Yo

d) a{nJ=6ﬂD(§)n Decar | £O 3257,

Growth rofe. = (Base=1)xIoc%
Deco (afe = (1-Bas) X00Ts
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14. A hot cup of coffee cools according to the equation

1\
(1) = 69(5) +21

where T is
the time in minutes.
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a)  Which part of the equation indicates
n example of exponential decay?
b) Whar was the initial temperature of the coffee?
¢ Use your knowledge of transformations to
sketch the graph of this function,
d) Determine the temperature of the coffee, to the
arest degree, after 48 min.
e) Explain how the equation would change if the
coffee cooled faster.
f) Explain how the g -aph woul
coffee cooled fast

that this is

uld change if the
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15. The value of a car after it is purchased depreciates

according to the formula
V(n) = 28 000(0.875)"

where W) is the car’s value in the #th year since it
was PUIChaSCd.

a)  What is the purchase price of the car?
b) What is the annual rate of depreciation?
¢) What is the car’s value at the end of 3 years?

d) 'Whart is its value art the end of 30 months?
e) How much value does th e car lose in its first y ar?
f) How much value does it lose in its fifth year
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16. Write the equation that models each situation. In cach
case, describe each part of your equation.

a) the percent of a pond covered by warer

lilies if they cover one-third of a pond now and
cach week they increase their coverage by 10%
the amount remaining of the radioactive isotope
U,y if it has a halflife of 4.5 % 107 years

the intensity of light if each gel used to change
the colour of a spotlight reduces the intensity of
the light by 4%
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17. The popul of a city is growing at an ay e rat
of 3% per yarI 1990 the populat onwas4sooo
a) Write an equa hmodlhgwthfh
ryF_pl nwh cach part of the equa

b) U < your equa
of the city in 1007

) Determine the year during which the populati
will have doubled.

d) Suppose the population took only 10 year:
double. What gcwth te would be requi edf

this to have happened?

d) 2 =x"
(,J/‘\O"e x—-bﬂe
40y— =X

o.l =X

2
|, o7~ =X

)(aj— (Io} )X\CDOZ)

e &) P(E) = l(-Scm(; oa)

/

p(: ;u) tseno(163)”
= ;@398 peple

FH of yeary Since m{

/m‘/\al

wladon
)‘3‘30

covy Since 1970

9(@006"/\
Lol

) =284
Vo = 1990 +23.%
= Z013.4%

— 29 j@J/\ rod®

May 15-11:07



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

